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NEW QUESTION 1
What can an administrator use to partition limited CPU and memory resources between two departments?

A. Resource pools
B. vCenter folders
C. vSphere distributed switch
D. vSphere High Availability

Answer: C

NEW QUESTION 2
What is a minimum disk controller requirement for VMware vSAN?

A. A disk controller in pass-through or RAID 5 mode
B. A disk controller in pass-through or RAID 0 mode
C. A disk controller in pass-through or RAID 1 mode
D. A disk controller in JBOD mode

Answer: B

NEW QUESTION 3
A recently deployed set of test virtual machines are impacting the performance of a company development team project datastore. The shared cache server
appears to be suffering from storage congestion.
Storage I/O Control is already enabled on all company datastores.
Which two steps should the administrator take to improve the performance of the cache server? (Choose two.)

A. Configure storage shares per virtual machine.
B. Configure the path selection policy.
C. Create a claim rule to control the storage path.
D. Configure storage limits per virtual machine.
E. Update the storage provider for the existing array.

Answer: AC

NEW QUESTION 4
Which local only host utility is used for primary, real-time performance monitoring in vSphere?

A. esxCop
B. top
C. resxtop
D. vSphere Command-Line Interface (CLI)

Answer: D

NEW QUESTION 5
An administrator runs a two-node vSphere cluster, which contains two domain controller virtual machines (VMs). The administrator wants to ensure that VMs run
on separate hosts without interfering with normal maintenance operations.
How should the administrator configure Distributed Resource Scheduler (DRS)?

A. Create a 'Should run Virtual Machines to Hosts' anti-affinity rule.
B. Create a 'Virtual Machines to Virtual Machines' dependency rule.
C. Create a 'Must run Virtual Machines to Hosts' anti-affinity rule.
D. Create a 'Virtual Machines to Virtual Machines' anti-affinity rule.

Answer: A

NEW QUESTION 6
Which two VMware features are supported in a virtual machine using Intel Software Guard Extensions (Intel SGX) technology? (Choose two.)

A. vSphere vMotion
B. Storage I/O Control
C. Virtual machine suspend and resume
D. VM encryption
E. Fault tolerance

Answer: BE

NEW QUESTION 7
An administrator is running a variety of vSphere 6.5 cluster configurations and is tasked with upgrading to vSphere 7.0. Which two conditions could cause potential
conflicts or outages to the virtual machines (VMs)? (Choose two.)

A. The use of a Windows vCenter Server system
B. The use of third-party custom vSphere Installation Bundles (VIBs) installed on the ESXi hosts
C. The upgrade of an external platform services controller
D. Datastores attached to the hosts based on VMFS3
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E. The upgrade of a vSphere Distributed Switch with VMs attached

Answer: CE

NEW QUESTION 8
When deploying a vCenter Server Appliance, which two single sign-on (SSO)-related options are presented to an administrator? (Choose two.)

A. Repoint to another domain
B. Reset Single Sign-On password
C. Join an existing vCenter Single Sign-On domain
D. Create a vCenter Enhanced Linked Mode group
E. Create a vCenter Single Sign-On domain

Answer: BC

NEW QUESTION 9
An administrator wants to implement virtual machine encryption. Which component encrypts the virtual machine files?

A. Key management server (KMS)
B. Key encryption key (KEK)
C. Certificate
D. Data encryption key (DEK)

Answer: B

Explanation: 
https://docs.vmware.com/en/VMware-vSphere/6.7/com.vmware.vsphere.security.doc/GUID-9035D542-B76B-4

NEW QUESTION 10
Which privilege is required to run the esxtop utility?

A. Administrator
B. vStatsUser
C. vStatsAdmin
D. Root user

Answer: D

NEW QUESTION 10
An administrator adds an additional host to a cluster and is attempting to remediate the configuration with a host profile. Which option would the administrator
select on the host before it can be remediated with an existing host profile?

A. Export Host Profile
B. Attach Host Profile
C. Export Host Customizations
D. Copy Settings from Host

Answer: C

NEW QUESTION 15
Refer to the exhibit.

What does the %RDY for the Win1 virtual machine indicate?

A. High CPU wait time
B. Low CPU usage
C. High CPU contention

Passing Certification Exams Made Easy visit - https://www.surepassexam.com



Recommend!! Get the Full 2V0-21.20 dumps in VCE and PDF From SurePassExam
https://www.surepassexam.com/2V0-21.20-exam-dumps.html (109 New Questions)

D. Low CPU contention

Answer: D

NEW QUESTION 20
Which TCP/IP stack can support management traffic, vSphere vMotion, IP storage and vSphere Fault Tolerance?

A. vSphere vMotion TCP/IP stack
B. Provisioning TCP/IP stack
C. VXLAN TCP/IP stack
D. Default TCP/IP stack

Answer: D

NEW QUESTION 22
Refer to the exhibit.

What is the effective role the test1 account has on the Finance01 virtual machine?

A. Virtual machine user
B. Administrator
C. Read-only
D. No access

Answer: A

NEW QUESTION 26
Refer to the exhibit.

Which trusted infrastructure component is missing and represented by the area labeled "A?"

A. Attestation Service
B. Key Provider Service
C. vSphere Virtual Machine Encryption
D. Key Management Server

Answer: A
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NEW QUESTION 27
An administrator is asked to take a snapshot of a virtual machine prior to an application upgrade. The virtual machine has one standard virtual machine disk
(VMDK) and one physical mode raw device mapping (RDM) attached.
Which statement is true with regard to taking this snapshot?

A. The administrator will be unable to snapshot the RDM.
B. The administrator will be able to snapshot both disks.
C. The administrator will be able to snapshot the standard VMDK in independent persistent mode.
D. The administrator will be able to snapshot the RDM in independent persistent mode.

Answer: D

NEW QUESTION 28
......
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